
MODEL SECOND REVISION TEST –  2022  (1) & (2)     

 

SOCIAL SCIENCE 

 

ANSWER KEY FOR PART – I 

 

 MODEL - 1 MODEL - 2 

1. d)  Jews a)  Baba Dayal Das    

2. a)  Baba Dayal Das  b)  Sir John Cradock    

3. a)  Both (A) and (R) are correct, 

but (R) is not the correct 

explanation of (A) 

d)  1945 

4. c)  Chicago        c)  June 26, 1945 

5. c)  Maharashtra   b)  Hirakud dam     

6. d)  1953 a)  Portuguese, Dutch, English, 

Danish, French 

7. b)  Demography b)  Jharkhand 

8. d)  Arunachal Pradesh c)  Urban 

9. a)  The Chief Minster   c)  Both (A) and (R) are true and 

(R) is the correct reason for (A) 

10. d)  all the above d)  Diplomacy 

11. d)  all are correct c)  Nutrition 

12. d)  1994 c)   1829 

13. c)  Belgrade       b)  Both (A) and (R) are true and 

(R) does not explains (A) 

14. d)  (i), (iii), (ii), (iv) 
a)  Iswarchandra Vidyasagar    
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